
MFX-612S Next Generation

Interchangeable spare parts 

Drawing Next Generation Description Q'ty Former version

pos. no. part no. per tool part no.

1 900A00018 mandrel M6 1 * 920061201A

2 900A00019 mandrel M8 1 * 920061201B

3 900A00020 mandrel M10 1 * 920061201C

4 900A00021 mandrel M12 1 * 920061201D

5 900A00029 anvil + counter nut M5 1 * 920083003B

6 900A00030 anvil + counter nut M6 1 * 920083003C

7 900A00031 anvil + counter nut M8 1 * 920083003D

8 900A00032 anvil + counter nut M10 1 * 920083003E

9 900A00033 anvil + counter nut M12 1 * 920083003G

10 900A00026 rivbolt puller M5 1 * 920061213A

11 900A00027 rivbolt puller M6 1 * 920061213B

12 900A00028 rivbolt puller M8 1 * 920061213C

13 900A00025 forward handle 1 ~ 920061210

14 900A00023 lever 1

15 900P00092 anvil pedestal 1

16 900P00094 bearing bush 1

17 900S00017 bearing 1

18 900S00018 retaining ring 35 1

19 900P00100 grip 2

20 900P00095 stroke indicator 1

21 900P00109 Sticker MFX 612S 1

* = interchangeable part

~ = comparable part (not interchangeable)

Interchangeability spare parts Masterfix Next Generation tool and former version tool

Version 612-03: January 17th 2006



Interchangeability spare parts Masterfix Next Generation tool and former version tool

Version 612-03: January 17th 2006


